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Section I
Total marks (22)

Attempt questions 1-22 R
Allow about 30 minutes for this section

Use the Multiple Choice Answer Sheet provided

1 The distance between the Sun and the planef Uranus is 2.87 x 10™ m. What is this
distance in kilometres?
{A) 2870000 000 000 000 km
(B) 2 870000 000 000 km
{C) 2870000 000 km
) 2870000 km

2 Using the formula T=KM — IM? find the value of L when T=32, K=—4 and M=

-2
(A) -12
(B) -6
c) 6

) 12

3 From the diagram, find the area of the shaded region to the neares! square centimetre if
each of the circles has a diameter of 6em.

(A) 3lom®
(B) 6% e’
(€} 7Ten’
(D) 8% em™




At thé end of one year an fnvestment is worth $1026. Find the initial amount invested if
interest is caloulated at 8% p.a. Answer to the nearest dollar.

(4) $82 oo
(B) $128 .
(€ $950
() $1108

Sam wishes to survey the students in his school to suggest changes 1o the Canteen
menu. He decides to give the survey to 10% of the students in each year group at the
school. What type of sampling is this?
{A) Stratified.

(B) Randorh

{C) Systematic

(DY Census

Tina measures the width of a piece of cardboard with a ruler calibrated in millimetres.
She measures it to be 36.2 em, What is the percentage error of her measurement?

(A) +0.05%

(B} *0.14%

© +138%

Ly 213.8%

Two coins are tossed together 20 times. Which caleulation below illustrates the
expecied number of times you would get 2 heads?

]

®y - x20

) 1 % 20
2 "

© L xa0
4

) LTS
2 .

8

.

The depreciation on my new flatscreen tcleﬁsion worth $4000 can be found using the

decliding balance method. The table below shows the vahie of the television after a
number of years.

y 4

| Years Salvage value

0 |4000
1 3200

C 2 2560

3 2048
4 16384
5 1310.72
6 |1048.58
7 [838.86
8 |671.09
9 1536.87
10 |429.50

What year wiil the television be first worth half of its original value?
2"
® 3"
© 4"
@™ s"

Maria was required to solve an equation for homework. This was her solution.

8—-4(3x-T)=16 - .
8—I2x+28=16..cccorrrrrrirrrennn NG §
—12x-20=16.... Line2
—12x=36.... .Line3

X=3 i Line 4

‘Which lines DO NOT follow correctly from the previous line?

(A) LinelandLine?2
{B) LinelandLine4
(C) Line 2 and Line 3
(D) Line 2%and Line 4



10

11

12

13

In a One Day Cricket game Brett Lee bowled 2 ball at 2 speed of 141.6 kmn/hr. This
speed in m/s is closest to:

(A) 39mfs PR
(BY 39.3ms '

(C) 509.8m/fs

(D) 2360 m/s

How many 3-digit numbers can be made from the digits 4, 5, 6, and 7 without
repetition?

Ay 9

By 12

© 18

(D) 24

The last section of a supermarket docket is shown below. Find the total amount of this
bill EXEMPT from GST. Assume GST of 10%.

{A) 33530 Total $159.32

@) $120.49 ERT. $159.32
CHANGE 0.00

© §124.02 *Taxable items .

D)  §155.79 - TOTAL includes GST  $3.53

Keith borrows $2000 for a trip to Hong Kong. He repays the loan over 2 years al an
interest rate of 6% p.a compounding monthly.

Keith’s monthly instalments aze:

(A) 38341

B $93.33

{©) $93.63

(D) $93.93

14 W.'hi»ch of the following scatfer graphs shows a weak negative cotrelation?

Gy . ®)
. . > -
L K [ ) .. »
[ ] » L [ ]
L - - »
L] . -
@4 13} 3%
- L] *
L] . »
. * »
L £ ] - *
- * L]
- -» - . .
15 Dt'm'ng the last month in the town of Billabong houses were sold for the following
prices:
$160 000 $145 000 $175 000 $200 000
$180 000 $1 250 000 $145 000 $210 000
‘Which measure gives the best idea of house prices in the area?
(A) Mean ) ‘
(B) Median
(©) Mode
(D) Range
16 A Visacard has an anmual inferest rate of 16%. What would be the equivalent DAILY
Interest rate to 3 significant figures?
(A) 0.000438%
®) 0.0438%
(C) 0.044%
(D} 0.160%
-~
!
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18

19

A survey was taken in & class of 16 students to investigate the number of hours
students studied each week. The results, in hours, are as follows:

13, 18, 21, 30; 12, 17, 21,27, 12, 16,20, 25, 10, 15, 18, 23.

‘Which of the following f)px and whisker plots represents this data?

@ IS -
. -

(©) s jl =

) 1

I |1 | I |

10 13 14 15 i8 21 22 23 30

In triangle ABC, if AB =8 cm, BC=12 cmand AC=15cm, then ZB is:
@ 5 » '

® 527

© 81°

@) 95°

Maria receives a z-score of 1.6 in an Assessment Task. If the mean of the task was 60
with a standard deviation of 15 what was her raw score?

(A) 36
(B) 64
©) 84
®) 96

e

20 A 60 cm pendulum on a clock swings through an angle of 25°, The distance through
which the tip of the pendulum moves is closest to:

(A) 150em L \

(B) 260cm . / \
© 262em ’ : / "z‘\
M 37cem AN

21  The pitch of the roof on a pergola is 17°, The distance from the ceiling to the peak of
the roofis 1.6 m. The pergola has a length of 6 m.

The area of the roof is:

Ay 192m*

B8) - 328m* -
€y  6283m?

o 65.7m?

22  Researchers were testing a new lie detector. The resuls were as shown in the table

below.
Test results
Accurate | Nofaccurate TOTAL
People delling the truth 60 8 68
People not telling the truth 140 22 162
TOTAL 200 30

‘What pereentape of people did the test indicate were not telling the truth?

) 1%
S e
© 0%
) 8%



Section IT

Total marks (78)
Attempt Questions 23-28
Allow about 2 hours for this section

-

Answer each question in a SEPARATE writing booklet.

. Marks
Question 23 (13 marks) Use a SEPARATE writing booklet,
(2)  The Hall Family had a Garage Sale one weekend. One member of the family
recorded the age and sex of the people who attended. This stem-and-leaf plot
shows the results. P
GARAGE SALE AGE AND GENDER SCRVEY
Males Females
21014 5
8 6 4|12 5 7
8 7 4 2 2 13121 2~ 4 6
g8 6 4312 4
413 5 8
i How many people attended? . 1
(i)  What was the age of the youngest person? X
(iii)  What was the modal age of the group? 1
(iv)  Indicate which group, males or females, has the greater spread.
Justify your answer with eppropriate calculations andfor reasoning. 1

Question 23 continucs on page 10

®)

< Marks
Question 23 {continued)
A breakfast cereal company decides to make a 515g pack of their cereal.
The factory produces packets with a mean weight of 527.5gand a standard
deviation of 2.5g.
@ For quality control purposes thiey reject any box containing
Tess than 525g. Under these conditions what percentage of packeis
produced will be rejected? 1
(iiy  The company also decides to reject packets greater than 3 st:.andard
deviations above 525g. What is the maximum weight that will be accepted? 2
(ili) A packet is selected at random, what is the probability that it weighs

()

greater than 535 g? 1

-~

A scattexplot is made up of the following points, (See graph labelled - Scatterplot
on page 19)

=

®
(D

@ii)

1 3 4 5 6 8 10 |12 |13 144)
% 115 130 |55 |40 |es {70 |85 80 |90

Using the points plotted on page 19 determine the coordinates of the middle
median point and mark it on the graph. 2

Using a pencil and ruler draw the median regression fine on the Scatterplot 1
graph. .

Write the equation of the median regression line. 2

End of Question 23

10



Marks

Question 24 (13 marks) Use a SEPARATE writing booklet. o Marks
L. ‘ Question 25 (13 marks) Use a SEPARATE writing booklet.
(a) A family room is 6mi x 6.4n." . :
. () Tim, decided to find the-gpproximate area of the sole of his thong. He made the
(i)  Using the scale 1:100 draw a scale diagram of the room. 1 following measurements with CD, BF, GH placed at regular intervals zlong AB:
(i)  The floor of the family room is to be tiled using slate tiles which are AB=28cm, CD= 9 cm, EF=8.5cmand GH=11.4 cm.
40 . i i i : . : ’ .
cm 40 om. Calculate the number of e required fo o this. ! Use Simpson’s Rule to calculate the area of the sole of Tin’s thong. 3

(®)  Two hikers Antonio and Melanie leave Holly Wood (H). Antonio walks ona

bearing 040° for 12km to reach Zorro Creek (£). Melanie walks on a bearing of 150°
for 8km fo reach Amabala (A).

Copy this diagram apd clearly indicate all information given.

N %
A
(i) Show that angle AHA is 110°. 1
(i)  How far apart are Antonio and
H Melanie when they are at % orro Creek e
a :::1 T;; $ ala res p);cili—ze]y? Rg; d ;, our (b)  Svenis aspeed skater who has to travel from kis training venue at W
answer to two decimal places 2 to his home at Z.
Antonio plans te meel Melanie at Amabala. Using the diagram below:
A . .

(1)  ‘What is the average speed Anionic
will need to run at to reach Melanie

Springfield

at Amabala in 1% hours? 1

Gv) On }vhat 'bearmg will Antonio run in a W Smiggan’s Hole Y
straight line from Zorre Creek to
Amsabala, to the nearest degree? 2

South Park

{c) An aeroplane is fiying from Cairo (30° N, 31° E} to Durban (30° 5, 31° E)at

a constant speed of 500 knots. @ How many differend options can Sven take o get home?
Q) How many naufical miles will the plane travel in 5 hours? 1 (i} Sven chooses his way home at random. Is the probability of Sven going
” home via Smiggin’s Hole greater than going via South Park?
(i)  What are the plane’s new coordinates as a result of this 5 hour flight? 2 ) Use mathematics o explain your answer.
P ()  Given thal the radius of the Barth is 6400 km, calculate, to the nearest
/ kilometre, the great circle distance from Caire to Durban. 2 . Question 25 continues on page 13
: /
End of Question 24
il

iz



Question 25 {continued)

(¢)  When Tai was born his paerits put $200 into his piggy bank, on each

following birthday they placed $150 into it.

(i}  Write an algebraic exp{‘éssion relating the total amount 4

in the piggy bank to the time  in years,

(ily  Which of the variables 4 or#is the independent variable

in this equation? Explain your answer.

Marks

(d) A bag contains 7 red counfers R and 4 green counters G. Two counters are randomty

selected from the bag.

@) Copy the tree diagram into your wrifing booklet and complete the diagram

by writing the probabilities on afl the branches.

(ii)  What is the probability that:

1 botharered T

. LY
2 - one of each colour is selected?

End of Question 25

13

2

Question 26 (13 marks) Use a SEIiARATE writing booklet.

()  Chusissaving for aﬁ'averséés holiday, costing $15 000. He has already saved

$10000. His saving plan is listed below:

Investment }; a te;‘-m deposit vsing his $10 000 aiready saved, at 0.75%
per month, compounding monthly. '

Marks

Investment 2: a deposit of $150 per month, paid at the end of the month,
invested at 6%p.a., compounding monthly.

The table below shows the value of each investment and 2lso the total value of his

investments for the first 12 months,

Months" Accumulated Value of
810000 Term deposit |$150 Monthly Savings|Total savings

1 10075 150 10225

2 10150.56 300.75 10451.31
3 10226.69 452.25 10678.94
4 A B C

5 10380.67 757.54 11138.21
3 10458.52 911.33 11369.85
7 10536.96 1065.88 11602.84
8 10615.99 1221.21 11837.20
9 10695.61 137732 12072.93
10 10775.83 1534.20 12310.03
5| 10856.64 169187 12548.51
12 10938.07 1850.33 12788.40

(i) Find the missing amounts at A, B and C.

(31} Atihe end of 12 months, how much interest has Chris earned

Question 26 continues on pagels

14



Marks

Question 26 (continued)

®

(i)

(iv)

-Chris would like o kxio‘v.; when he will have enough money to afford

the holiday. He writes down the following:

A 150{(1+0.005 )" -1}
Amount=10000(1+0.0075 * + 5005

Explain why this formula will calculate his total savings at time n.
Clearly indicating the purpose of each significant number or pronumeral. 3

-
Chris would like fo take his holiday at the end of 2 years. Will he halve
accumulated $150007 Justify your answer with appropriate calculations s
and/or reasoning,

Penelope leases a PT Cruiser for $42000. The car will depre.ciat-e by 1 p% per ye;'ir.
Penelope can calculate the value of her car using either the Siraight-Line Formula
or Declining Balance Formula for depreciation. .

At the end of the 4 year lease period she intends to purchase the car. Using the
two (2) methods of depreciation, calenlate the car's worth at the end of four years

and explain under which meihod would Penelope receive the better deal.

End of Question 26

15

Question 27 (13 marks) Use 2 SEPARATE writing booklet.

(a)

)

(©)

./.

Tony is creating an 18'}’ birthday cake. Its Jower section is 2 cylinder with a
hemisphere on top as iHustrated in the diagram.

G) Tony wanis fo ice the entire cake,

chocolate. Caleulate the ares of the
surface to be iced. Answer correct
22 cm fo 2 decimal places.

(i)  Tonyis (0 ice the cake to a uniform
thickness of 5 mm. Caleulate the
final volume of the cake including

; - the icing,

Grant takes out a home loan of $100000 at 10%p.a. Interest ¥ is calculated
monthly and Grant will make a repayment R of $1300 each montl.

He draws up a table showing the progress he makes in repaying the loan over
the first 6 months.

Months | Principal(P) Interesi(l} P+ PR
0 100000 833.33 100833.33|  99533.33
1 99533.33 £29.44 100362.781  99062.78
2 99062.78 825.52 99888.30] 98588.30
3 98588.30 821.57 09409.87] 98109.87
4 A B : C D
5 97627.45 813.56 08441.01| - 97141.01
6 97141.01 809.51 97950.52]  96650.52

] Caleulate the values of A, B, Cand D.

(i)  How much has Grant paid off the principal P of the loan at the end
of & months?

The equation for the area of an annulus is
" A =7r(R2—r'2}
Where R is the rading of the outer circle and » the radius of the inner circle

()  Rewrite the equation with » ag the subject.

() A concrele pipe, has an area of 216 cm?® and a ouler radius of 15em.
Calculate the inner radius of the pipe.

Eng of Question 27

i6

Marks

excluding the base, with melted white




Quesﬁon‘zs {13 marks) Use 2 SEPARATE writing booklet.

(8)

®)

The number of tables thaf can be sot in & restaurant is invessely proportional
to the distance between the fables. When tables are placed 1.2 metres apart
4 tables can be set.

(i} Write an equation rc!a:tin‘g the number of tables () and their distance ()
apart.

(i)  Calculate how many tables ean be set when the distance between iables
is reduced to 800 mm.

James makes wooden rocking horses as part of his business. To calculate

k
the cost {C) of making each rocking horse he uses the model C=——-/

ntl
where (n) is the number of rocking horses.

The table below indicates James® production costs per horse for varying numbers
of horses produced.

” 2 5 7 11
c 80 40 30 20

() Find the value of % in his production equation.
(ify Caleulate his initial cosfs.

(iii} James sells the rocking horses for $50 each. How many horses .
will he need to sell before he begins to make a profii?

(iv) James makes and sells 14 horses calculate his fotal profit?
(v} Why would it be unwise for James to rely on this formula when

producing large numbers of rocking horses.
TJustify your answer with appropriate mathematics.

Question 28 continues on page 18

17

Marks

Question 28 {continued)

©

f;jv;h:;:ilﬁr eils ﬁ;ip:,?‘ing the Sgdney Harbour Bridge. When he is 72 metres

b el he notices two ferries 1 and F2 in line. From his positi

el he ¢ ; 3 position tt
angle of depression of F1 is 23° while the angle of depression to F2 is 12°. *

B 1
D ” K1 F2
(i} Copy the diagram info your booklet clearly showing all given information
(i) Find the distance between the ferries F1 and F2, fo the nearest metre,
End of Paper
I8

Marks
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Outcomes Assessed: H2, H4; Syllabus Canteﬁ 3
Targeted Performance Bands: 3-5

" CATHOLIC SECONDARY SCHOOLS ASSOCIATION

Question Cnfena
2002TRTAL HIGHER SCHOOL CERTIFICATE EXAMINATION 23(b)(ji)) |3 standard deviations =99.7%. ’ \ ) .
- Above 3 standard deviations from mean = _0.3% = 0.15%
GENERAL MATHEMATICS MARKING GUIDELINES / SOLUTIONS 2
| Correct answer=0.15 = _3
Section A — Multiple Choice — Questions 1-22 I Mark Each 100 2000
1. C 2. B LA 4.-C 6. B Outcomes Assessed:E1, H2, F4, PS; Syllabus Content: DAT, AM2
7. A g C 9. D 10. B 11.D 12.C Tar, ete([}’ertgrmance Bands: 2-3
13.D 14.C 158 16.B 17.C 18.D Question Criteria —ME‘Q
19.C 20.C 21.D 22.B - — ]
, 23(c)(i) |e Calculates correct coordinates (7, 60) 5
Section B s Correctly plots (7,60) On graph
{ IU = Ignore Units, (brackets) = details within brackets not necessary for marks}
Qutcomes Assessed: H1, H2; Syllabus Content: DAS Any one of the following: 1
Targeted Perfortirance Bands: 2-3 « Calculates one median correctly (either 7 OR 60}
Question Criferia . Marks s Correcily plots their wrong point on thegraph
234)(1) . Correct answer = 30 {people) IU 1 .
(ii) Correct angwer = 2 {years) {U . i Outcomes Assessed: H2, Hd, P5; Syllabus Content: DAT7, AM2
(iif) Correct answer = 22 (years) IU 1 Targeted Performance Bands: 2-3 Mark
Quesﬁ(m Criteria arxs
Outcomes Assessed: HI, H2, H4; Syllabus Content: DAS 23(c)0) | A line drawn through the two end median points and then moved 1/3 towards 1
Targeted Performance Bands: 3-5

the middle median point

Question ) . Criteria Marks
23(a)(iv) | Females have a greater spread.

Ounteomes Assessed: H2, H4, P5; Syllabus Content: DA7, AM2

ales TFemalos Targefed Performaice Bands: 3-4 T
ale: : riteria
ti
IOR 31-17=14 [33-13,5-19.5 (22;'(30?3 5= G5t 516
3D 9.8 13.7 1 »  Correctly calculates gradiént of 6.5 or correct from thelr)(“)
Range 36 44 Correctly calculates y-intercept of 5.16 (accept 5 0.5) or correct
Correct comparison of any one of these OR indicate the difference in * frgm the{r (i)
distribution. Note: No mark is awarded for male/ female choice.
ith { the above
Outcomes Assessed: H2, H4; Syllabns Content: DA6 Either ono o
Targe:t‘?d Performance Bands: 3-5 — . Ntk Outcomes Assessed: P2, P6, P7; Syllabus Content: M3 .
%:?E)l{?;l C orrectc;xi::\t::* 6% 1 > Targeted Performance Bands: 2-4 oI J@‘\
= 16% : riteria
(i} | 3 standard deviations above 525g is 2 standard deviations above the mean. 2 %ﬂﬁmws rectanple 60mm x 64mm 1
527.5+ 2x 2.5 = §32.5g. Comect answer: Reject above 532.5¢ :
— — 1 Ountcomes Assessed: P2, P6, P7; Syllabus Content: M3
L . 527.5+3x25-535g ~ o1
- S . R o Targeied Perforinance Bands: 2-3
OR. S . AT SR 5 Criteria Marks
. 3x 2,5‘ =17.5g : e - 24(a)(ii) | Cormrectly calculates 240 (tiles) A= (;‘ g 2.42
S : - =Joam
ai ; [ 26012_|

A L PR . T

. No.tiles=384 1
0.16
=240

. Y




- Qutcomes Assessed: H6, H7; Syllabins Contentis M7, T3 A3 S 1 <t Pazch PSRN Dutcomes Assessed; HI, H?2, H6, H7; Syllabiis Contenti M. <710 231 ek srnessnly

) FL’1Ta;;l§gnP€ff briance Bands: 2-3 R Aot Thned *‘*'““““T‘.‘a“?‘}g‘;?‘;f;;;rks T#{& geted Performance Bands: 3-4 e £ bt Syt v =
1 Quiestion i i : L4 i #1e1.Cri ST UL
O A G e O T R A T R TR EEL ) sQuestion |, _— nCriteria______ = Marl
e e (11°408, 31°Ey ., Both correct. Anguldr Distance="2500..++/+ | ¢ gt
. _ . 60
Ontcomes Assesseds H6, H7, H11; Syllabus Content: M6 : . o eeay ovozgybagl - L e e
Targeted Performance Bands: 2-4 - Coat One of: - Gt s L N
uestion ' Critegla . - - ° * Marks e I11%40'S . ) o )
24(b)Gi) | Correctly caleulates 16.54 (km) AZE=122+ & -2 x 12x 8eos110° .. 31°E . ) :
=273.6678 2 =
; _ AZ »16.54km SO Outcones Assessed: H2, H6, H7; Syllabus Content: M7
One Of?:la fcli;w mig ates AZ2= 273,67 ’ o Targeted Performance Bands: 2-3
« Correctly calculates =2713.601... Question -+ Critexria Marks
« Correctly substutes jnto Cosine Rule ) ZA(c)ii) « Comect angular distance ~ " Angle=30° +30°
‘ Correct answer of 6 702 =60° 2
Outcomes Assessed: P2; Syllabus Content: M1 ' rect answere (km) 60
Targeted Performatice Bands: 2-3 =30 22(6400)
Question Criteria Marks | 6702064320
24(b)(ifi) | Speed = 11.03 k/hr Spoed = D~ 16.5425.. = 6702,
T 15 1 = 6702k
N = 11.028606.... kph Oneof: -
+ Correct angular distance
Outeomes A?essed: H1, H2, H6, H7; Syllabus Content: Mé s Correct answer from incorrect substitution into correct formula 1
Tuarpeted Performance Bands: 5-6
Question Criteria Marks Outcomes Assessed: Hi, H2, H6; Syltabus Content: M5
24(b)(iv « Comectly caloulates , using Sine Rule, angle AZH = 27° or angle Targeted Performance Bands: 2-3
: H,Z;Z por » USINg o1 » B0 gle " Questi Critert ik
angle = . : uestion riteria arks
: 0 _ aqp0 90 - 25 -
e Comectly calculates bearing of 193° =270~ 77 @ |y. ’_’[df +d, +4dn]
7 3
0 _ 7 7
=0 +85+4x9]+ [8.5+0+4x114] 3
OR 3 3 3 :
H = 230.0666 ‘
A s 230em’®
One of:C '1 . el Az = 2 ' One mark for each of the following: .
e Correctly calculafes angle AZH =27 s« h=T7
o Calculates bearing correctly with theirincorrect angle calculated 1 o endpt(s}=0
earlier. » Correct substitution with their h
Onicomes Assessed: H3, H4, HI0; Syllabus Conrent: PB3
Quicomes Assessed: H2, H7; Syllabus Content: M7 Targeted Perforinance Bands: 3-5
1 Targef?d Performance Bands: 2-3 __ [ Question Criteria Marks
Qzl‘;‘zs;l(‘_‘)’l e oo 10 Criteria <7 Marks [ 25(b)() | Correct answes of 18 (routes} No. of combinations = 2x3x3 = 18 1
c)(i orrect answer o Distance =5 X
. =500x5 1 '
= 2500M




-{ : Cu

a

e et denmee i e

[camesAssessed. H3, Hd, H19, HII; Splfabus Com‘enﬁ PB.?‘ B L0 Sk ateenin®d
! Targe[ed Performance Bands: 3-S

-t vl 5)&\5}&\\16\%9"&%5\9?“&1

2Tt Questmn

si151t Criteria

: ""T'\"W

; - |- mehy{s5:Marks
I 25(b)(1) 1 P(Srmggms Hole) %1/3, P(South Park):=1/3 L. “:»ea inniuetio ) (s
. “*Therefore answer is NO...probabilities are the same. . .
2
»  Correct probability caloulated for eachroute , . s, b . oafcan
. Statemant feonclusion usmg mathematics to support answer - ]
e Correct caleulation of probab[hties with no conclusion -1
(NOTE: A conclusion with no maths is awarded no marks)
Outcomes Assessed: PI, P3, P4; Syllabus Content: AMI
Targeted Performance Bands: 3-4 P
Question Criteria Marks
25(c)(D) | A=200+ 150t
1 Mark for each:
¢ 200 (y-intercept)
» 150t 2
Outcomes Assessed: PI, P4; Syllabus Content: AM2
Targeled Performance Bands: 3-4
Question Criteria Marks
25(cXii} | 't because it is not affected by A (Mark only given for explanation not
choice} 1
Outcomes Assessed: P1, P9; Syllabus Content: DA2
Targeted Perforinance Bands: 3-5 -
Question Criteria Marks
25(d)(i) | Correct probabilities for both selections
e 2
7 R
il g\ G
10
7 R
G {
107G
Oné of:
¢ Correct probability for 1'% selection 1
+  Correct probabilities for 2™, Selection (can be based on incorrect 1%
selection probabilities)

Outcames Assessed: H2, H16; Syllabus Cohténti PR3. . 41

R T T T e At
Targeled Parforntiice Bands: 3-5 FOL e st ueth et
+. L. Quigstion Wi Criteria’ "“f‘. o _Marks
25(d)ii} 1 | Comrectanswerof 21 ord42 :*.-. .- ¢ LPRR)=Ix 6 =21 AN AL |
.55 11§ - 11.10 - '55
(2
Outcomes Assessed: B2, Hd, H10; Syllabus Content: PB3
Targeled Performance Bands: 3-5
Question Criteria Marks
25(d)(ii) 2 | Comrect answer of 28 or 56 P(one of each)= P(RG) +P(GR)
55 110 =7 x4 +4 x1
. 11 16 11 10
= 56 1
- - 110
=28
55
Outcomes Assessed: HI, H2, HS, H8; Syllabus Content: FM5
Targeted Performance Bands: 3-5
Question Criferia Marks
26(a)({) s  One mark for each correct entry for A, Band C
A = 10 000 (140.0075)"
=10303.39
(1+0.005)" —1
=150 —>"—"—
B { 0.005 3
=604.52
C+=10303.39 + 604.52
= 10907.91
Outcomes Assessed: H1, H2, H5, H8; Syllabus Confent: FM5
Targeted Performance Banils: 4-5
Question Criteria Marks
26(a)(ii} « Correct calculation of 988.40
Interest = 12788.40 — (10000 + 12 x 150) 2

=088.40

Caleulation of principal of $10000 + ($150 x 12}




Outeoriies Assessed: H1, H2, 05, H8; Syllabus € pnterg{ . FF. A[San €11 111 thnrznzed, 2o

A

n-m"!‘

Targeted Performance Brmds 4—5 P A ealaeatt e

Ques{]on

At e s

- 'Z' et “Criteria

ol ﬁ.Mal'kS

* 26(a)(ii)”

. Statmg 10000(1-’:-0 00075}“ is comp(;un—d‘{nferest formula where'
310000 is pnncnpa! and 0.0075 is mterest for'that périod, n is period.

WL T e

. Statmg 150 (1+%%%55) is the future value of investing 150 /
month at 6% p.a. (6.005% per monih) and n is number of months.

s The addition of the above because he has both investments going at
same time,

!d‘l )f

One mark for each of the following

s Noting 0.005 is 6% p.a. converted to monthly.
« Relating compound interest fo $10000(1+0.00075)"
{1 +0.005y 1)

i lue fo 150
* Relating future value {o 0,005

Outcomes Assessed: HI, H2, HS, H8, Hil1; Syllabus Conteni: FM5
Targeted Performance Bands: 4-5

Question

Criteria

Marks

26(a)(iv}

s Comect answer of $15,778.93 (or $15,779) and
» Conclusion saying he would reach $15000 for holiday (an excess of

$778.93)
A =10000(1.0045)™ +

24
150/ (1005 1)
0.005
=15778.93

One of the following )
e Caleulation of $15778.93 ($15779) with no or wrong conclusion

» Correct conclusion from incorrect calculation

¢ Quicomes Assessed: HI; H2, HS, g })II Y SYIBBAR E i FLEN AN Az smenind

[.__;’Targe:ed Performance Bands: 4-5. ... . _ S et st st
4 ue.shon' — S “:"' (fnterla C e IR By
26(1))!; e Stralght Im;s ‘value= 25200777, ; el e s . N

heben - o Declining Ralance—~ valuc 27556. 20 RS
* Therefore better to use straight fine mathod because the value is less ¥3
§=Vo(l-1)".
=42000(1-0.10)*
=27556.20
S=Vo-Dn
=42000-4x 4200
. “=25200
Any one of (1 mark each)
* Straight line value =25 200 1
* Declining balance value = $27 556,20
¢ Correct conclusion from incorrect ealeulations
Outcorntes Assessed: H2, H3, H6, H 7, H11; Syllabus Content: M$
Targeted Performance Bands: 4-5
Question Criteria
27()i) | SAcyl = Zwrh Mars
= 2m(20}.22
= 2764.601535
1
SAhem = ~ 4517
. . 2 ) 2
1
= " 4r(20)?
2
= 2513.274123
SAtotal = 5277875658
~ 5277.88cm’
1
1 Mark for
*»  Correct caleulation of SA of cylinder
* Comec! calculation of SA of hemisphere




Iy

Az Question

27(a)(ii)

kil Ciiteria
New radius = 20.5, Height =22

utcomes Assessed: H2, H3, H6, H7, HI1} Syllabus CohtentEME. 25 LW hevanzeh 2s1memin 0
Targeled Performance Bands: 2-4

P8 sonansinet hovsaet

ERAN
LR SR
=~ Veyl=n*h

i
< i
U =m(20.5)°.22
= 2004559480
Total = 47089.07041
=~ 47089cm’
1 Mark each for:

> Vhem = iinr’
i 23

~18043.4756 1

-

Correct calculation of V of hemisphere
*

Correct calcnlation of V of eylinder

| noi asMhrks
i

Quitcomes Assessed: P2, P8; Syllabus Content: FAM2
Targefled Performance Bands: 2-4
Question

27(b)()

Criteria

Ountcomes Assessed: P2, P8; Syllabus Coirféif't: Fafr2

One mark for each of the following:
" A=98109.87

Marks

B=817.58
C=98927.45
D=97627.45

Targeted Performance Bands: 3-4
Question

27(b)(i)

Criteria

Marks

Correct calculation of $3349.48 paid off (100 000 - 96650.52)

1

Qutcomes Assessed: H2, H3 Syllabis Content: AM3
Targeted Performance Bands: 3-4
Question

27(e)(®

Criteria

A=qaR*~1")

One mark for

— =R

Marks

or

»  Obtains correct eqn for I

» _Dividing both sides by & *' *

++Qitestion

27(c)(ii)

s Criteria

Outcomes Assessed: H2, H3; Syllabus Conteritt M3V V58, BUrys S0 b
. Targeted Performance Bands: 3-4

Peaen b vhraanmnl -

-0 e il aormtatginesd butsesut

ctimin L F

i

s e e i o ot
A o fYS LN
ri=Jr-2 7
/4

Yy

' e lesMarks

]

216 '
= 157 - 222
T 2
=12.49980258
r=I12.5cm
OR correct substitution into their formula,
Outcomes Assessed: H2, H3; Syllabus Contenit: AMA
Targefted Performance Bands: 3-4
uestion Criteria Marks
28(a)(i) e 1
dk ~ 1 Mark for correct equation 1
=X
Outcomes Assessed: H3, HS, H11; Syllabus Content: AME
Targeted Performance Bands: 3-4
Question Criteria Marks
28(a)ii) Find k when n=40 and d=1.2
k= nxd
k=48
. 48
SoH=a—
d
A8
0.8 1
n =60Tables
NOTE: d = 800mm
=0.8m
* 1 Mark for caleulating k based on their equation from (i) AND
calculating n when d = 800mm
Outcomes Assessed: H2; Syllabus Content; AM3
Targeted Performance Bands: 2-3
Question Criteria Marks
28X Correct substitution and evalnation leading o k=240 1
(i) Correct caleuation when n=0,.C = $240 1




hY

3

Onteomes Assessed: Hi, H2, H6, H7; Syllabus Content: (MG

RAL RSN T P B TR
! Targeted Pecfammnce Bands: 4-6 1 S N ,_,HI~\ S
o - -1 . Quiestion _ e Criferia = - o L ul o Marks
Ontcotes Assessed: HI, H2, H3, Hi; SyUabiis Cortent? AMy 81 11 herenezh zmnonwd o = e =
f:: T::rge[edPerfbrmance Bands: 3-4 .. . _y e Y b wonomiis’) hslogin T ) RO ON " Corredtly calciates” dlstanceFl -F2a5169ma ;7 P2
“1 Qirestion.]... .. I T Criteria ... ... __]. 80 “ Marks 1 M .
28(b)(iti) Corrcct calGatation to ' gol ff = 4 (b CRPAY 62 X557, 3 TS BIaY) ark for any of the followmg.x
- - tan67 = —
. 240 B ERERUNER S TP TR Al ) 72
. ..__I_mapk—fqr-equatmg 50 ?—_];Hi— - H 1 « DFI: X =T72tan67
: § =169.6213703
Outcomes Assessed: P4; Syllabus Content: AM4 . oo I
Targeted Performiance Bands: 3-4
Question Criteria Marks Cx
23()Gv) 240 tan78 = =
Cost [ horse to make = . -
' - 15;6 - 2 : * DF2: x =72tan78
Selling = $50 =3 _ =338,7333679
Profit / horse = $34 FIF2 =169.1119976
Therefore, total profit =34 x 14 =3$476 _ | ; ]
1 mark for each of ) . '
» Correctly caleulate profit / horse (_)f $34 i
*  Correctly multiplying their profit with 14
Outcomes Assessed: HS, H11; Syllabus Coutent: AM4
T argeted Performance Bands: 3-4
Qucstion Criteria Marks
28(b){(v) * Correct mathematics leading to a conelusion of Jarge n produces )
unrealistic values for C. . 2

One mark for any one of the following: -
* Correct conclusion from incorrect mathematics

1
* Correct mathematics with no conclusion
Outcomes Assessed: Hb; Syllabus Content: M6
Targeted Performance Bands: 3-4
Question Criferia Marks
28(c)(i) B v - .
23
i
7Zm
D F1 F2 s
. 3
* Correctly shows at Jeast one angle and 72m

12




